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The present paper is concerned with the semilocal as well as the local convergence problems of Newton-Steffensen’s method to
solve nonlinear operator equations in Banach spaces. Under the assumption that the second derivative of the operator satisfies
y-condition, the convergence criterion and convergence ball for Newton-Steffensen’s method are established.

1. Introduction

Let X and Y be real or complex Banach spaces, let D ¢ X
be an open subset, and let F : D ¢ X — Y be the Fréchet
differentiable nonlinear operator. Approximating a solution
of a nonlinear equation

F(x)=0 (1)

is widely studied in both theoretical and applied areas of
mathematics.

One of the most famous methods to solve this problem is
Newton’s method defined by

X, =x,—F(x,) ' F(x,), n=0,1,2,..., (2)

where x, € D is an initial point. Usually, the study
about convergence issue of Newton’s method includes local
and semilocal convergence analyses. The local convergence
issue is, based on the information around a solution, to
seek estimates of the radii of convergence balls, while the
semilocal one is, based on the information around an initial
point, to give criteria ensuring the convergence. Among the
semilocal convergence results on Newton’s method, one of the
famous results is Smale’s point estimate theory which gives
a convergence criterion of Newton’s method only based on
the information at the initial point for analytic functions; see
for example, [1-6]. To extend and improve Smale’s theory,

Wang and Han proposed in [7, 8] the notion of y-condition,
which is weaker than Smale’s assumption in [5] for analytic
operators.

There are several kinds of cubic generalizations for
Newton’s method. The most important family is the Euler-
Halley family and its variations which include Chebyshev’s
method and Halley’s method as special cases; see for example,
[9-16] and references therein. However, the disadvantage of
this family is that the evaluation of the second derivative of
the operator F is required at every step, the operation cost
of which may be very large in fact. To reduce the operation
cost but also retain the cubic convergence, Sharma in [17]
proposed the following Newton-Steffensen’s method which
avoids the computation of the second Fréchet derivative.
Let f: R — R.The method is defined as follows:

 f(x)
" (x)
f(x)
g(x,)

In =X
©)

Xn+1 = Xy

n=0,1,...,

where g(x,) = ((f(y,) — fx)/(y, — x,)). The author
obtained cubic convergence for (3) under the assumption
that f is sufficiently smooth in the neighborhood of the
solution.



Motivated by the work mentioned above, we extend this
method to Banach spaces and present its semilocal and local
convergence. The extension is described as follows:

-1
Yn = Xn _F,(xn) F(xn)’

L (4)
xn+1:xn_[yn’xn;F] F(Xn), n=0,1,...,
where the divided difference operator is defined by
! !
i Fl = [ F G tO-x))d )
0

In Section 2, we introduce some preliminary notions and
important majorizing functions with properties. In Sections
3 and 4, we study the semilocal convergence and local
convergence results of Newton-Steffensen’s method under y-
condition, respectively. We obtain the uniqueness ball and the
convergence ball.

2. Notations and Preliminary Results

Throughout this paper, we assume that X and Y are two
Banach spaces. Let D < X be an open subset and let
F : D ¢ X — Y be a nonlinear operator with the
continuous twice Fréchet derivative. For x € X andr >
0, we use B(x,7) and B(x,r) to denote the open ball with
radius r and center x and its closure, respectively. Let X €
D be such that F'(x)™" exists and B(x,r) c D.

Let y be some positive constant and 0 < r < (1/y). We
say that F satisfies y-condition on B(x,r) if the following
relation holds:

"FQYT”WW<(——EL__‘ xeBX1). (6)

1y lx—x)°"

For simplicity, we write

r0=<1—%>%. @)

The lemma below is useful in the next two sections.

Lemma 1. Suppose thatr < 1, and that F satisfies y-
condition (6) on B(x,r). Then for anyx €
B(X,7), F'(x)™" exists and the following inequality holds:

—\2
1-— -
”F'(x)_lF' (})“ < (1-ylx _X||2) ' )
21— ylx-%I) -1
Proof. We can derive the following relation:
I-F&)'F (x)
)

=- Il Fx)1'F'x+t(x-%)(x-x)dt.
0
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For any x € B(X,r), it follows from y-condition and r <
1, that

b o 2yllx -
i-F@F w]< [ A
i
0 (I-ylx-%lt) (10)
(1-ylx =%l

Then, by Banach lemma, one has that F'(x)7! exists and the
following inequality holds:

_ 1
F'(x)"'F (x)] <
IF@r ' @) L= [V =yl —=1)) - 1]
, (11)
_ (1 -ylx =)
2(1-ylx-%)° -1
O

Let B > 0 be some positive constant. The following
majorizing function h introduced by Wang and Han in [18]
will be used to obtain a Smale-type semilocal convergence
criterion:

h(t)y=p—-t+

t’ 1
" te[o,—>. (12)
1=yt Y

Let {s,} and {t,} denote the corresponding sequences
generated by Newton-Steffensen’s method for the majorizing
function h with the initial point t, = 0; that is,

_, ()
T @)
. (13)
tn+1:tn_(w) h(tn), n=0,1,....

The following lemma taken from [19] describes some
useful properties about h.

Lemma 2. Suppose that
o= Py <3-2V2. (14)

Then h has two zeros in [0,1/y) denoted by t* and t**. They
satisfy the following relations:

< —. (15)

Moreover, h is decreasing monotonically in interval [0,7,],
while it is increasing monotonically in interval [r,, 1/(2y)].

The lemma below describes the convergence property of
the sequences {s,} and {t,}, which is crucial for the semilo-
cal convergence analysis of Newton-Steffensen’s method (4)
under y-condition.
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Lemma 3. Suppose that (14) holds. Let {s,} and {t,} be the
sequences generated by (13). Then

0<t,<s,<t,, <t Vnx0. (16)

Moreover, {s,} and {t,} converge increasingly to the same
point t*.

Proof. To show that (16) holds for n = 0, we note that 0 =
ty < so = 3 and that t; = (B(1 — yB)/(1 — 2ypB)). By (15), we

have
—I_Y‘B > 1
1-298°

This implies that t; > 8 = s,. It remains to show that #; <
t* for the case n = 0. To this end, we define a real function as

17)

t € [0,+00). (18)

It is clear that ®(t) = —(h(t) — B)/t and that O(¢) is
decreasing monotonically in [0,+00). It follows from (15)
that ®(B) > ®(¢*). In view of the fact that t* is the unique
zero of h in [0,7,], we obtain 3/t* = ®(t*) < ®(f). This is
equivalent to

R B
s —— =g (19)
1-(yB/(1-9B)
Hence (16) holds for n = 0.
Now we assume that
0<t,;<s,,<t,<t" forsomen>1.  (20)

From Lemma 2, we have h(t) > 0, for eacht € [0,t7],
and h(t,)/h'(t,) < 0. The later one implies that s, > t,.
Define function

_,_h®
N(@) =t ot

tefo,t"]. (21)
Then, N'(t) = h(t)h" (t)/W' (t)* > 0, which implies that N is
increasing monotonically in [0,¢"]. Hence, we have

h(t,) . k() .
h’(tn)<t —m—f.

n~— ‘n"

(22)

Since h is convex in [0,t*], we get K'(t,) < (h(s,) — h(t,))/
(s, —t,) andso s, < t,..
Furthermore, we claim that

1

! h(t)_h(t’) . !
o-(M5) e
-1
h(t")-h
<t - <—(ttﬂ)_—t (t)> h(t")

(23)

forall ', ¢, ¢" € [0,t*] and ' < ¢ < ¢". Indeed, it follows
from the convexity of h that

h(e") (h(t")—h(t))‘lh 0

W) £t —t

h (t”)
- W (t")’
X (24)

h(t') ht)y-h(f)\
_h’(t’)<_< f—¢ ) h(t)
h(t')
g_h'_(t)’

from which we have

h(t')-h(t")

(" —t)+ =L < (" - )+ (T"-T")

W (1)
h (t")

h(t')

S (t -t )_ W (t”) + n (t’))
(25)
where
-1
ht)-h(t
- (M0 e,
(26)

" -1
T = (h(t )—h(t)) h(t”).

th —¢

Noting that —1 < K'(t) < 0 for all t € [0,¢*], we obtain

() )y ) - (o)

K (1)
= 0.
(27)
Then (23) follows. By (23), we conclude that
h(s,) —h(t,)\ "
e e RIS
(28)

* -1
<t - (M) h(t*)=t".

¥ —s,
Therefore, (16) holds for allm > 0. The inequlities
in (16) imply that {s,} and {t,} converge increasingly to
some same points, say 7. Clearlyr € [0,t"] and 7 is
a zero of hin [0,£"]. Noting that * is the unique zero
of h in [0, 7,], one hasthat T = ¢*. The proofis complete. [J



3. Convergence Criterion

Throughout this subsection, let x, € D be the initial point
such that the inverse F'(x,)”" exists and let B(x,,7,) C D,
where r, is defined by (7). Moreover, we assume
that F satisfies y-condition on B(x,,ry); that is, the
following relation holds:

- 2
"F'(xo) lFH (x)” < —Y3,
(1-ylx=xl) (29)
x € B(xy,1,).
Then, for any x € B(x(,7,), it follows from Lemmal
that F'(x)™" exists and the following inequality holds:

2
(1 =y lx = xol)
5 .
(1- Y”X_xo“) -1
Below we list two useful lemmas.
Recall that the divided difference operator [y, x; F] is

defined by (5). The following lemma gives the expressions of
some desired estimates in the proof of Lemma 5.

(30)

|F' )" F (x0)| < ;

Lemma 4. Let x € B(x,, ). Define
y=x-F(x)'F(x), x=x-[yxF] Fx). (3)
Then the following formulas hold:

(@) [y F] = F'(xg) = [ ) F" (g + sl(x = x0) + £(y
ODMx = x4) + t(y — x)] ds dt.

(i) X~y = -F'() 7 [} [ F"(x + st(y - 0)(y - x)(% -
x)t ds dt.

(iff) FG®) = [ [} F"(x + 1y = x) + st(F ~ ))(F — 2)(% -
y)t dsdt.

Proof. For (i), we notice that

[y,xF] - F' (x,) = Ll [F' (x+t(y-x))-F (xo)] dt

- Jol jol F" (0 + s [(x=xp) +t (y—x)])

X [(x—x) +t(y—x)]dsdt.
(32)

As for (ii), one has
X-y=F () "F(x)-[y,xF] Fx)
= F'(x)"' [F (x) - jl F'(x+t(y-x))dt
0
X (x — x)
- -Fx)

11
XJ J F" (x+st(y-x))(y—x) (X -x)tdsdt.
0o Jo )
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Similarly, we obtain
Fx)=FX) -F(x)-[y,x;F] (x - x)

= JIF'(x+t(E—x))(E—x)dt
0
_JIF' (x+t(y-x))(x—x)dt (34)
0

11
_ J J F' (x+t(y—x) + st (F— y))
0 Jo
x (x - x) (x - y)tdsdt.
The proof is complete. O

Lemma 5. Suppose that (14) holds. Then the
sequence {x,} generated by (4) with the initial point x, is
well defined and the following estimates hold for any natural
number n > 1:

(1) ”yn—l_xn—lll < Sn—l_tn—l’ ”xn_xn—lll < tn_tn—l’ ”xn_
yn—l” < tn = Sp-1-

() 10ypm15 %013 FI7 P () € =((8my = £/ ((s,y) =
h(t, ).

(iii) IF"(x0) "FOe)I < ht,)(lx, = X, /(= 1))
(1 = %11/ Sy = 20))-

Proof. For the case n = 1 in (i), it is clear that [y, — x,l <
B = sy — t;. By Lemma 4 and (29), we have

[P e (] P )

F’(xo)_1

11
XJ J F" (xo + st (95— %0)) (yp — %) tds dt
0 Jo

2y (50 - to) t

s Jo Jo [1-y(sy—to)st]

_ h(so) _h(to) 1

So —to

dsdt

(35)

In view of the monotonicity of h, one has that (h(s;) —
h(ty))/(sy — t;) < 0. Hence, we get from Banach lemma
that [y, x,; F]™" exists and satisfies

“[J’O)xo;F]_lF’ (xo)"
1
T 1= (((h(s0) ~h(t0)) [ (so—tp) + 1) (6)
Sy — tp

_h(so) ~h(ty)
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Combining (36) inequality with the definitions

of {s,} and {t,} given in (13), one has
1 = x| < ” [}’O’XO;F]_IFI (xo)" "Fl(xo)_lF (xo)"

g_&h ¢
h(s) = ()" @)

=t, — o

As for the estimate [x; — y, |, by Lemma 4, we have
-1
X1= Yo = _F’(xo)
1,1
XJ J E" (x + st (v — %)) (38)
0

0
x (¥ — x0) (5 — x) tds dt.

This together with the obtained bounds |y, —
Xoll and (29) yields that

) —ty)(t; -t
||x1 —)’0" < J J Y(SO 0)( 1 03)tdsdt
0 Jo (1-y(sy—1to)st)

x “yO - xO" ”xl - xO” (39)
So —to t =t
_ Iy = xoll ) e = %o
- (tl SO) ( So — 1o ty —ty .

This implies that statement (i) holds for n = 1.

Statement (ii) for the case n = 1 is justified by (36).
Below, we consider the case n = 1 for (iii). First we have the
following expression of F(x;) due to Lemma 4:

xoll> ¢, -

FGo)= [ [ R (oo t00-50) st - 30)

(40)
x (x; = x0) (% — yp) tds dt,
from which we obtain that
“F'(xo)_lF(xl)"
2y (t, —t,) (£, — t
y (6 —to) (1 = o) ds dt

< Jol Jol [1-y(t(sy—to) + st (t; = so))]
. ("’2 :Zoll )2 ( "ZZ :ZOH) (41)

B (),

Therefore statement (iii) holds for n = 1.

Assume that statements (i)-(iii) are true for n = k(> 1).
Below, we will show that they also hold for n = k + 1. First,
by statement (i), we have

k-1 k-1
||xk - xO“ < Z "xi+1 - xi" < Z (ti+1 - ti)
i=0 i=0

*
:tk<t <7’0.

(42)

Hence, F'(x;)”" exists by Lemma 1.

Note that
| (o)™ F ()] < 5 (@)

by the inductive hypotheses of (i) and (iii). Then it follows
from (30) and (13) that

e = xie| < "F’(xk)_lF’ (xo)” "F,(xo)_lF (xk)"

h(t)
STH ) T

(44)

Hence by (29), (44), Lemma 4, and the inductive hypothesis
of (i), we have

||F'(xo)_1 (Do xis F] - F' (xO))"

4kmyﬁfﬂﬁﬂﬂw—m+wwam

x;)] dsdt

x [ (o = x0) +t (i —

11 2
s Jo JO [1-yps(t; +1}(5k - tk))]3

X [tk +t (Sk - tk)] dsdt

:J1< ! Z—I)dt
o \ [1—yp(te+t(sc—ti))]

_ h(se) = h(t)
S — Iy,

+1<1.
(45)

It follows from Banach lemma that [y, x;; F I"'F '(x,) exists
and satisfies

" (Ve xk;F]%F’ (xo)"

1
S 1= (((h(se) = h(t)) / (s~ ) + 1) (46)

S~ t

- _h(sk) —h(t)

Hence, (ii) holds for n =k + 1.



Combining (46) with the inductive hypothesis (iii), one
has

I — i) < " [y xis F] ' F' (xo)” '|F’(xo)7lF(xk)“

_ _(h(su—h(tk))*h o

Sk~ bk
y ( "xk - xk—l“ )2 ( ||)’k—1 - xk—l“ ) (47)
e = b1 Sk-1 ~ T
= (1 — 1)

% ( "xk - xk—l“ )2 ( ")’k—l - xk—l“ )
te =tk Sk —teer )

which implies that [lx,; — 2l < ey =t
On the other hand, by (29), (30), (44), and Lemma 4, we
conclude that

"xk+1 - )’k”

1 r1
< L L "F’(xk)*lprl (xp + st (v - xk))"
X ||y = il [ereer — x| £ ds dt
< [F' (o) (xo)]

2y [l = xicl i — il t

1 1
xj J 3 sdt
0 Jo [1 =y (flcx = xo + st [y = xi]})]

(1-yt)’°

T 2(1-p) -1

ler 2y (s = ti) (e — 1)t
0 [1 =yt +st (s — 1))’

y ( ||)’k - xk" ||xk+1 - xk” )

(s = tie) (e — i)

e -t (M - (fk))

W () S — bk

% < ||J’k - xk" ||xk+1 - xk” )

(s = te) (ti — i)

SR (S TN

(s = tie) (terr — &)

(48)
dsdt

0

which leads to [[x;,; — ¥ill <ty — Sk Thus, (i) holds for n =
k+1.
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Next, we will show that (iii) also holds for n = k + 1. In
fact, by using Lemma 4, (29), (44), and (48), we obtain

"F’(xo)_lF (xk+1)||

< Jl Jl 2y (tr = tie) (Beer = 5¢)
0 Jo [1—yp(te+t(sp—te)+st(ters — k)]

) ( s = 2] )2 ( Iy = xil )
tee1 — S — by

= (B =) - =R (50 - (1))

S — bk
) ( It = x| )2 ( Iy = xil )
fee1 — S — by
||xk+1 - xk” ’ ||)’k - xk”
<hltin) ( tee1 — sc—te )

Therefore statement (iii) holds for n = k + 1. Hence (i)-(iii)
hold for all n > 0. Furthermore, by statement (i), one has, for
any n > 0, ||lx,, — xoll < t, < t* < r,. Thus by Lemma 1 we
know that F '(xn)_1 exists for each n > 1; that is, {x,,} is well
defined. The proof is complete. O

3tdsdl‘

(49)

Recall that {s,} and {t,} are defined in (13). Based on the
preceding useful lemmas, we are now ready to prove a Smale-
type semilocal convergence theorem for Newton-Steffensen’s
method (4) under y-condition.

Theorem 6. Suppose that (14) holds. Then the
sequence {x,} generated by (4) with the initial point x, is
well defined and converges to a solution x* € B(x,,t*) of (1)

with Q-cubic rate, and this solution x* is unique in B(x,, 1),
where t* < r < t**. Moreover, the following error bounds

%" = %l

Sn—m
e ) Vnzmz0 (50)

"l < (¢ ~1,) (

tm
are valid, where t* and t** are defined in Lemma 2.

Proof. The uniqueness ball can be obtained by Theorem 5.2
in [19]. It follows from Lemma 1 that {x,} is well defined. In
addition, from Lemmas 3 and 5 (i), we can see that {x,} is
convergent to a limit, say x*. Below, we show that x* is a
solution of (1). It follows from Lemma 5 (iii) that

|F' (o) F (x,)| <R (t,) vnzo0. (51)

Letting n — o0 in the preceding relation gives that the
limit x* is a solution of (1). Moreover, we have

|x" = x| <t” ~t, (52)
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Next, we verify that estimate (62) is true. By (29) and h(s,) —h(t,) , . I = x|\’
Lemma 5, one has =(-h(t)-———"C -t) )| ———
; s, —t, t—t,
<™ =l LI R IAYIEEET Y
o S s, —t, t*—t, )’
= HF (%) (55)
N [Jl F'(x,)(x* —x,)dt + F(x,) ~ F (x*)] ” Combining the above inequality with (46), we have
0

s = < [y F1F (0)

x “F’(XO)_1 [yn’ X F] ('xn+1 - x*)"

X Ll Ll F" (x, +st(x" —x,)) (x" - x,)’tdsdt - ( h(s,) - h(t,) >—1 o

s, —t
-1 noon 56
<[P () F ()] ™
11 X(h(sn)_h(tn))(“x _'xn“>
v J J F'(x0) ' F" (x, + st (x" - x,)) S0 =L £ -1,
0 Jo
< -y (Bl
x(x" - x,) tdsdt - i t*—t, )
(1-y " . — x0||)2 Therefore, the error estimate (62) follows. Also, from the
< . 3 previous inequality, we know that the convergence rate
21—y x, = xof)” - 1 of {x,} to x* is Q-cubic. This completes the proof. O
bt 9t —t,)t
X J J ut ) 5 dsdt
0 Jo [1—p(||x, = xo + st (x* = x,)[)] One typical and important class of examples satisfying y-
) condition is the one of analytic functions. Smale [5] studied
< (4 ||x* -x, || the convergence and error estimation of Newton’s method (2)
<7 =s) tr—t, ) under the hypotheses that F is analytic and satisfies
(53)
|F'e F” )| <niy™, nz2, (57)
In order to estimate ||x,,,; — x* ||, we first notice that
where X is a fixed point in D and y is defined by
[yn’ xn;F] (xn+1 - X*)
F@ &)
R - SE\ [ " y = sup| ——— (58)
=J J F (xn+zn’)(x - y,) (2" = x,)tdsdt, n>1 n!
0 Jo
(54)

The following lemma taken from [20] shows that an

. analytic operator satisfies y-condition.
where z2' = t(y, — x,) + st(x* — y,). This together with yticop Y

Lemma 5(i), (29), (52), and (53) gives that Lemma 7. Let ry and y be defined by (7) and (86),
respectively. Suppose that F is analytic and satisfies (85).
”F'(xo)_1 (¥, %5 F] (%001 — x*)" Then F satisfies y-condition
’ J J' A | R - ~dsdt "FI(})—IFH (x)" < 2y . (59)
0 Jo [1 =y (llx, = xol + £ ]|y = xal + st (x* = 3,))] (1-ylx - =)
1 ~1 o *
< J J (= 5) (7 =) 3 on B(x,ry).
070 [l_y(tn+t(sn_tn)+$t(t* _Sn))]

i 5 According to this lemma, we can conclude that the
% lx" = x| semilocal results obtained in Theorem 6 also hold when F is
t* —t, an analytic operator.



Corollary 8. Suppose that (14) holds. Suppose that F is ana-
Iytic and satisfies

|F' (o) F? (xo)| < iy, m>2, (60)
where y is defined by
1o 1/(n-1)
o F’(XO) IF( : (xo) (61)
y = sup| —————
n>1 n!

Then the sequence {x,} generated by (4) with the initial
point x, is well defined and converges to a solution x* €
B(x,,t*) of (1) with Q-cubic rate and this solution x* is
unique in B(x,,r), wheret* < r < t**. Moreover, the
following error bounds

3=

b -l <oy (Bl )

are valid, where t* and t**

Vnzmz>0 (62)
are defined in Lemma 2.

4. Convergence Ball

Now we begin to study the local convergence properties for
Newton-Steffensen’s method (4) under y-condition. Recall
that r, is defined by (7). Throughout this section, suppose
that x* € D such that F(x*) = 0, B(x",r,) C D, and the
inverse F'(x*)™! exists. Moreover, we assume that F satisfies
the y-condition on B(x",r); that is, the following relation
holds:

||F’(x*)’1F” ) < v

, xeB(x",r).
(1-ylx-x])’ ('or0)

(63)

Then, for any x € B(x", r,), it follows from Lemma 1 that

(1 =y fx =]’

|F' ) F ()] < ; (64)
2(1-yllx - x*1)" -
Let
5-17
L) 9
(4y)
Define function G as follows:
Yt
Gt)= —— =, 0,7,).
( ) 1—4yt + 2)/2t2 € ( 7’1) (66)
It is clear thatr, € (0,r,) and that G(r;) = 1.
Moreover, G increases monotonically in (0, 7).
Theorem 9. Let r; be defined in (65). Then, for

any x, € B(x",r)), the sequence {
converges to x* and satisfies that

x,} generated by (4)

- <a" 5], n=01.., ()

where

q=G(t,) <1, t5=|x,—x"|. (68)

Abstract and Applied Analysis

Proof. For n=0,1,...,wewrite t, = [x,—x"|. It is sufficient

to show that

* G(tn) ’ * 13
Loy Sty ||xn+1—x ||$<T> ||xn—x > 69)

n=0,1,....

In fact, by noticing the monotonicity of G/, we have

b << (C2)

< (), - wF 70

2
:<%) I, - x*

From this we can easily establish (67) by mathematical
induction.
We now prove (69). First we get the following expression

P, n=01,....

of x,,; —x*:
*
Xn+1 — X
-1
= [V %5 F]

[P Gt ) 5, 2

- (F(x,) - F(x"))

-1
= [V %5 F]

1
xj j F' (5" +(1=1) (x, = x*) + st (, - x°))
0
x (v, —x")(x, —x")tdsdt.
(71)
Similarly, we also have

F,(xn)ilF, (xn) -

®
In—=X =Xy~

- F(x,)
X [F(x") = F(x,) + F' (x,) (%, - x")]
=F(x,)"
y Ll [F (x, + £ (<"~ x,)) ~ F' (x,)]
x (x" —x,)dt
=F(x,)"

1l
X J J F' (x, +st(x" - x,)) (x* - x,)°t dsdt.

0o Jo
(72)
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This together with (63) and (64) yields

1 =2 < |F' () F ()

1l
X J J F'(x")'F" (x, + st (x" - x,)) tdsdt
0 Jo

X[~ x|

(o)
< )
(1 =y[x* = x.])

1 1
xj J 2y _dsdt
0o [I_Y|lxn+5t(X*_xn)_x*||]

x| - x|

(l_ytn)

1,1
XJ J 2—y3dsdt
0oJo [1-y(1-st)t,]

x|~ x|

D
1 —4yt, +2y°t2

()

On the other hand, we notice that

e - x|

F'(x") " ([ xa F] - F' (x7))
_ Fl(x*)fl

X Jl JIF" (x"+s(1-1)(x,-x")

0 Jo
+st (y, = x7))
x[(1-t)(x,-x")+t(y,—x")] dsdz.

(74)
It follows from (63) that
[F' ) (s 1 F ()]
[[ 20k =rloiba=sl]
070 [1 - Y(S(l —t) ||xn - x*“ +st "yn - x*")]3
(75)
For the case n = 0, by (88) and (73), we get
lyo =*"[ < G (to) " = ol < %" = %o . (76)

Combining Lemma 2 with (75) and (76), we obtain

"F’(x*)_l ([J’O)me] -F (x*))H

2y [ =1) xg = ™| + £ ]y = x7|]

\JIJI 3dsdt
0 Jo [1-y(s(1=1)|xg—x*| + sty — x*|)]

< JIJI 2y [(1 = 1)ty + tty]

o Jo [1-y (st -n)ty+st1,)]°
~ 1
C(-yt)’

dsdt

-1<1.
(77)

It follows from Banach lemma that

1

1= ((1/(1=yt)") 1)
(1 _on)2

21-yt) -1

This together with (63), (71) and (76) yields

"[)’o’xo;F]_lFl (x7)]| <

(78)

e =7l

< "[}’o’xo;FTIF (x%)

y "Fl(x*)—l
1l
X L L F' (x" +(1=1t)(xy - x%)
+st (¥, —x*))tdsdt"

x[yo = x| o = 7|

(1 - Yto)2
2(1-pt) -1 79)

tdsdt

i

o Jo [1-y((1=1)ty+stty)]
x G (to) <" = x|

(1) l( 11 )

21—yt -1t \ (1-yt,)>  (1=7to)
X G (tg) %" = x|

(O Y e

0

Hence (69) holds for n = 0.
Now assume that the inequalities in (69) hold for up to
some n > 1. Then by (73), one has

“yn+1 -x" “ = G(tn+1) th SG (to) but S g (80)
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Thus (75) can be further reduced to

[E' ) (e s F1 = ' (2)|

Jl j‘ 29 [A =Dty +ttan]
) G- ’ (81)
0 Jo [1—p(s(1=1)ty, +stt,,)]

1
=——-1<1.

2
(1 - Ytn+1)

Using Banach lemma again, one has
2
(1 B ythrl)
—_—
2(1 - th+1) -1

This together with (63), (71), and (73) yields

< (82)

"[yn+1’xn+1;F]71F, (x*)

[z = =7
< ||[yn+1’xn+l;F]_1F, (X*)

x “FI (X* )71

.JIJIF"(X*+(1—t)(xn+1_X*)

0 Jo
+5t (Y —x7)) tds dt"
X |per = 2] een = %7
(1 B ytn+l)2

2
2(1=yty) -1

1,1 (83)
xj j 2 _tdsdt
0Jo [1 _Y((l _t) tn+1 +Sttn+1)]

XG (1) 5" = ol

IN

2
(1 _ytn+l)
2(1 - ytnﬂ)z -1

] ( 1 o )
tn+1 (1 - ythrl)Z (1 - ytn+1)
X G (ter) %" = o

G(t)\
_ <_t( "+1)> I

n+l

Thus
2 2
trez < G(tyi1) thar < G(to) e < typr- (84)

This and (83) show that the inequalities in (69) hold for n +
1 and hence they hold for each n. The proof is complete. [J

Applying Lemma 7 to the above theorem, we get the
following corollary:

Abstract and Applied Analysis

Corollary 10. Suppose that F is analytic and satisfies

"F'(x*)_lF(”) ()| <ny™", nz2, (85)
where y is defined by
F/(x) F® () [
y = sup| ——————— (86)
n>1 n!

Let r; and G be defined by (65) and (66), respectively. Then,
for any x, € B(x",r,), the sequence {x,} generated by (4)
converges to x* and satisfies that

I, - x| <q” *|xo-x|, n=01,..., (87)
where

q=G(ty) <1, t5=|x—x"|. (88)
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